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1.  Fill in the gap with appropriate prepositions    10×.5= 5 
A lake of a low area a)____ the ground where the water collects in pools. 
Sometimes people b) ____ the area faster than it leaves, so it backs up, 
forming a lake. Sometimes people cause this too by building a dam c) ____ 
a river creating a reservoir. Lakes are surrounded by higher land d) ____  
some side of it. Rain that falls and snow that melts e) ____ the higher land 
alongside a lake flows down from the hills as runoff f) ____ the lake. Water 
also seeps into the ground alongside the lake. Water also seeps into the 
ground alongside the lake and flows downhill g) ____ underground 
contributing water to the lake. A lot of water coming into a lake arrives h) 
____ flowing downhill I) ____  the watershed that drains into the lake. 
This, a lake's level will often rise when it rains many miles upstream j) ____ 
it in the watershed.  
 

2. Complete the sentences with suitable phrase/ words given in the box     0.510=5 
was born There let alone as soon as What’s ... like 
has to what 

does…look like 
would 
rather 

it had better 

a) Mr. Karim cannot afford three square meals for his children, –– 
education. He earns very little. 

b) Asif does not like to wear a tie. But he –– do it every day when he 
goes to office. 

c) It’s such a nice weather! I–– sit in the garden than watch TV.  
d) The cultural programme resumed –– the electricity came back. It 

was a great relief for the audience. 
e) I have to meet Liza in ten minutes. I –– go now or I will be late. 
(f) Socrates was a great Greek philosopher. He  in 469 BC. He spoke against the 

traditional Greek beliefs and so he was sentenced to death by drinking hemlock.  

g) Long ago,  lived a mighty warrior, Kubla Khan. He built an amazing 
alabaster palace in a deep, dark, and mysterious forest.  

h) — is very difficult to get good grade in Bengali and English. 

. 



i) Baby: Mom, — a time machine —? 
  Mom: Sorry dear, no idea. I have never watched a science fiction 

film. 
j) ...... your family .......? 

3. Complete the sentences using suitable clauses/phrases.     5x1=5 

a) The financial condition of my family was not so good. So, I took a part-
time job so that ––. 
b) Flood visits Bangladesh almost every year. Most often it occurs because 

of ––. 
c) Rana didn’t lock his bike and it got stolen. If he had locked his bike, ––. 

d) Sharat Chandra is my favourite author. His writings are outstanding. 
Whenever I read any of his writings, . 

e) A patriot is a person who ––. it is our sacred duty to love our country. 

4. Read the text and fill in the gaps with the correct form of verbs as per 
subject and context.                                                                        0.510=5 
I arrived at Dhaka two months ago and now I (a) — (stay) with my 
uncle in Tejgoan. My uncle (b) — (work) in a bank but lately he (c) — 
(take) a year’s study leave. He (d) — (do) a course in Business 
Management which (e) — (start) last month. I am having a good time in 
Dhaka. I already (f) — (visit) most of the historical places here like 
Lalbagh Fort and Ahsan Manzil. I like the riverside at Sadarghat best of 
all because it (g) — (remind) me of my own hometown. I (h) — (travel) 
in a bus the other day when I met one of my school friends, Rashed. 
When I last (i) — (see) him, he (j) — (work) for his father’s company. 
Now he is doing a special English course because he wants to go to 
Australia to study.  
 

5. Change the narrative style by using indirect speech,                                     5 

"Oh, my lord, please don't kill the child", said the woman. " Let her have 
him". The King said, " now everything is clear to me." Pointing to the 
woman, he said to the servant, " Give her the child. She is the mother of 
the child.  

6. Use appropriate sentence connectors in the blank spaces of the 
following passage.                  0.5x 10=5 

Probably the most worrying threat to our planet at present is global 
warming. The predominant factors resulting in the warming of the earth 
are the emissions of CO²  and deforestation. A)........there are potential 
ways to solve these problems or at least reduce the effect. B)..... 
Governments need to reduce our dependence on fossil fuels and 

promote alternatives. C)..........., plant-derived plastics,  biodiesel, wind 
power, and solar power are all things that are a step in the right 
direction. D).........government needs to enforce the limits on 
CO²  emotions for the polluting industries in their countries for these to 
be effective. E)...….., individuals can play a part by making lifestyle 
changes. F)..........., people should try to buy cars with the best fuel 
economy, and only use their car when really necessary. G)........., they 
can also switch to energy companies that use renewable energy rather 
than fossil fuels. H)..........., small things like buying energy efficient light 
bulbs, turning off electricity in the house, and planting trees in the 
garden can help. I)........., although global warming is a serious issue, 
there are steps that governments and individuals can take to reduce its 
effects. J)........, if we are to save our planet, it is important that this is 
treated as a priority for all concerned. 

 

7.Write an application to the  Chariman of your union for the 
repairment of the roads in your locality.                                                                                                              
10 

8. Write a paragraph of the cause and effect of Water Pollution. Use at 
least 200 words.        10x1=10 


